Algebra 2	Unit 1B – Solving Quadratics	1B.1 – HW

Name:_________________________________________________  Date:___________________________

Solving Quadratics: Square Roots Method, Factoring (a=1), & GCF

Solve by Factoring:
	1. x2 + 16x + 64 = 0






	2. x2 – 13x + 40 = 0
	3. x2 + 13x – 20 = 10 

	4. x2 – 11x – 60 = 0







	5. x2 + 11x – 10 = 32
	6.  x2 – 8 = -7x


Solve by Factoring (GCF):
	7. 3x2 – 51x – 180 = 0







	8. 6x2 + 48x  = -72
	9. [bookmark: _GoBack] 4x2 – 20x +42 = 20x – 42


Solve Using the Square Roots Method:
	10. 
 






	11. 
 
	12. 
 

	13. 
 






	14. 
 
	15. 
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